

THE ISOMETRIC EXTENSION OF THE INTO MAPPING FROM A $\mathcal{L}^\infty(\Gamma)$ -TYPE SPACE TO SOME BANACH SPACE

GUANG-GUI DING

ABSTRACT. We give some conditions under which an “into” isometric mapping from the unit sphere of an $\mathcal{L}^\infty(\Gamma)$ -type space (in particular, the atomic AM -space) to the unit sphere of some Banach space can be (real) linearly extended.

1. Introduction

After the extension problem of isometries between unit spheres was posed by D. Tingley in [8], almost all of papers concerning this problem considered only “onto” (surjective) mappings between two spheres (see [1], [3]).

In [2], we first considered the isometric extension problem of “into” mappings between two unit spheres. In [9], some conditions were given under which an isometry between unit spheres of “atomic” AL^p -spaces ($1 < p < \infty, p \neq 2$) can be linearly isometrically extended. Moreover, in [5], Z. Hou obtained an affirmative answer for an “into” isometry between the unit spheres of arbitrary AL^p -spaces without any condition. In [4], we considered the isometric extension problem of “onto” mappings between two unit spheres of ℓ^∞ -type spaces.

In the present paper, we will obtain some natural and useful conditions under which an isometry from the unit sphere of an $\mathcal{L}^\infty(\Gamma)$ -type space into the unit sphere of some Banach space E can be (real) linearly isometrically extended. Here, an $\mathcal{L}^\infty(\Gamma)$ -type space is a normed space of functions on an index set Γ equipped with the sup norm. For example, the spaces $\ell^\infty(\Gamma)$, $c(\Gamma)$ and $c_0(\Gamma)$ (in particular, ℓ^∞ , c and c_0) are all $\mathcal{L}^\infty(\Gamma)$ -type spaces (or $\mathcal{L}^\infty(\Gamma)$ spaces, in brief).

In this paper, all spaces are over the real field.

Received December 4, 2004; received in final form April 30, 2005.

2000 *Mathematics Subject Classification.* 46A22, 46B04, 46B20.

This paper is supported by The National Natural Science Foundation of China (10571090) and The Research Fund for the Doctoral Program of Higher Education (20060055010).

2. Some lemmas

We first give a lemma which is similar to Lemma 2.1 in [2].

LEMMA 1. *Let E be a normed space, V_0 be an isometric mapping from the unit sphere of $\mathcal{L}^\infty(\Gamma)$ into the unit sphere $S(E)$. If $-V_0[S(\mathcal{L}^\infty(\Gamma))] \subset V_0[S(\mathcal{L}^\infty(\Gamma))]$, then*

$$V_0(-x) = -V_0(x) \quad \forall x \in S(\mathcal{L}^\infty(\Gamma)).$$

Proof. First, we will show that $V_0(-e_\gamma) = -V_0(e_\gamma)$ for all $\gamma \in \Gamma$. In fact, for each $\gamma \in \Gamma$ and $\gamma' \neq \gamma$ ($\gamma' \in \Gamma$), by the hypothesis on V_0 , we have $V_0x = -V_0e_\gamma$, $V_0x' = -V_0e_{\gamma'}$ and $V_0y' = -V_0(-e_{\gamma'})$ (where, x, x' and y' are elements in $S(\mathcal{L}^\infty(\Gamma))$). From the equalities

$$\|x - e_\gamma\| = \|V_0(x) - V_0(e_\gamma)\| = \|-2V_0e_\gamma\| = 2$$

and (similarly) $\|x' - e_{\gamma'}\| = 2$ we immediately get, by the definition of norm in $\mathcal{L}^\infty(\Gamma)$, that

$$(1) \quad x(\gamma) = -1, \quad x'(\gamma') = -1.$$

Moreover, notice that

$$\|x - x'\| = \|V_0x - V_0x'\| = \|-V_0e_\gamma + V_0e_{\gamma'}\| = \|e_{\gamma'} - e_\gamma\| = 1,$$

which implies by (1) that

$$(2) \quad x(\gamma') \leq 0, \quad \forall \gamma' \neq \gamma, \gamma' \in \Gamma.$$

On the other hand, from

$$\|y' + e_{\gamma'}\| = \|y' - (-e_{\gamma'})\| = \|V_0(y') - V_0(-e_{\gamma'})\| = \|-2V_0(-e_{\gamma'})\| = 2$$

and

$$\|x - y'\| = \|V_0x - V_0y'\| = \|-V_0e_\gamma + V_0(-e_{\gamma'})\| = \|-e_{\gamma'} - e_\gamma\| = 1$$

we get $y'(\gamma') = 1$ and

$$(3) \quad x(\gamma') \geq 0, \quad \forall \gamma' \neq \gamma, \gamma' \in \Gamma.$$

From (1), (2) and (3) we obtain $x = -e_\gamma$. Thus we have proved that

$$(4) \quad V_0(-e_\gamma) = -V_0(e_\gamma), \quad \forall \gamma \in \Gamma.$$

Now, we complete the proof of the lemma. For each $x \in \mathcal{L}^\infty(\Gamma)$, by the hypothesis on V_0 , let $V_0y = -V_0x$ (where y is some element in $\mathcal{L}^\infty(\Gamma)$). From the equalities (noticing (4))

$$\|e_\gamma + y\| = \|y - (-e_\gamma)\| = \|-V_0x - V_0(-e_\gamma)\| = \|V_0e_\gamma - V_0x\| = \|e_\gamma - x\|$$

and

$$\|e_\gamma - y\| = \|V_0e_\gamma - V_0y\| = \|V_0e_\gamma + V_0x\| = \|V_0x - V_0(-e_\gamma)\| = \|e_\gamma + x\|$$

we get

$$x(\gamma) \leq 0 \Rightarrow \|e_\gamma + y\| = 1 + |x(\gamma)| \Rightarrow y(\gamma) = |x(\gamma)| = -x(\gamma)$$

and

$$x(\gamma) > 0 \Rightarrow \|e_\gamma - y\| = 1 + |x(\gamma)| \Rightarrow y(\gamma) = -|x(\gamma)| = -x(\gamma), \quad \forall \gamma \in \Gamma.$$

Thus we obtain that $y = -x$, which completes the proof. \square

LEMMA 2. *Let Y be a normed space, y_1, y_2, \dots, y_n be in the unit sphere $S(Y)$. If for every $\theta_k = \pm 1$ ($1 \leq k \leq n$),*

$$(5) \quad \|\theta_1 y_1 + \theta_2 y_2 + \dots + \theta_m y_m\| = 1 \quad (1 \leq m \leq n),$$

then for every $\lambda_k \in \mathbb{R}$ ($1 \leq k \leq n$),

$$(6) \quad \left\| \sum_{k=1}^n \lambda_k y_k \right\| = \max_{1 \leq k \leq n} |\lambda_k|.$$

Proof. Without loss of generality, we may assume that $\lambda_k \neq 0$ ($1 \leq k \leq n$) and $|\lambda_1| = \max_{1 \leq k \leq n} |\lambda_k|$.

By the Hahn-Banach theorem, there exists y_1^* in the unit sphere $S(Y^*)$ such that

$$(7) \quad y_1^*(y_1) = \|y_1\| = 1, \quad y_1^*(y_k) = 0 \quad (2 \leq k \leq n)$$

by hypothesis (5). Thus we get

$$(8) \quad \left\| \sum_{k=1}^n \lambda_k y_k \right\| \geq \left| y_1^* \left(\sum_{k=1}^n \lambda_k y_k \right) \right| = |\lambda_1| = \max_{1 \leq k \leq n} |\lambda_k|.$$

On the other hand, notice that every normed space Y can be embedded linearly and isometrically into a $C(\Omega)$ space with Ω being a compact subset of the unit ball of Y^* (see, for example, Corollary 2.6.22 in [7]). So, we can consider Y as a linear subspace $C(\Omega)$, and we get by (5) that

$$|y_1(t)| + |y_2(t)| + \dots + |y_n(t)| \leq 1, \quad \forall t \in \Omega,$$

and

$$\left| \left(\sum_{k=1}^n \lambda_k y_k \right) (t) \right| \leq \sum_{k=1}^n |\lambda_k y_k(t)| \leq \max_{1 \leq k \leq n} |\lambda_k|, \quad \forall t \in \Omega.$$

Thus,

$$(9) \quad \left\| \sum_{k=1}^n \lambda_k y_k \right\| \leq \max_{1 \leq k \leq n} |\lambda_k|.$$

The result follows from (8) and (9). \square

LEMMA 3. Let E be a normed space, V_0 be an isometric mapping from the unit sphere $S(\mathcal{L}^\infty(\Gamma))$ into the unit sphere $S(E)$. Let $\Gamma_1, \Gamma_2, \dots, \Gamma_n$ be mutually disjoint subsets of the index set Γ . Suppose that the following conditions hold:

- (i) $\|\sum_{k=1}^n \theta_k V_0(\chi_{\Gamma_k})\| = 1$ for every $\theta_k = \pm 1$ ($1 \leq k \leq n$). (Here, χ_{Γ_k} is the characteristic function of Γ_k , $1 \leq k \leq n$.)
- (ii) If $V_0 x = \sum_{k=1}^n \lambda_k V_0(\chi_{\Gamma_k})$, then $x = \sum_{k=1}^n \lambda'_k \chi_{\Gamma_k} + x_0$ with $\text{supp } x_0 \subset (\bigcup_{k=1}^n \Gamma_k)^c$.
- (iii) $-V_0[S(\mathcal{L}^\infty(\Gamma))] \subset V_0[S(\mathcal{L}^\infty(\Gamma))]$.

Then we have that $\lambda'_k = \lambda_k$ ($1 \leq k \leq n$) and x_0 is zero element.

Proof. Using hypothesis (i) and Lemma 2, we get, for all $\lambda_1, \lambda_2, \dots, \lambda_n$ in \mathbb{R} ,

$$(10) \quad \left\| \sum_{k=1}^n \lambda_k V_0(\chi_{\Gamma_k}) \right\| = \max_{1 \leq k \leq n} |\lambda_k|.$$

Without loss of generality, we may assume that $\lambda'_1 \neq 0$ in the hypothesis (ii). By (10), we have

$$(11) \quad \begin{aligned} \left\| V_0 x + \frac{\lambda'_1}{|\lambda'_1|} V_0(\chi_{\Gamma_1}) \right\| &= \left\| \sum_{k=2}^n \lambda_k V_0(\chi_{\Gamma_k}) + \left(\lambda_1 + \frac{\lambda'_1}{|\lambda'_1|} \right) V_0(\chi_{\Gamma_1}) \right\| \\ &= \max_{2 \leq k \leq n} \left(|\lambda_k|, \left| \lambda_1 + \frac{\lambda'_1}{|\lambda'_1|} \right| \right) \\ &= \max_{2 \leq k \leq n} \left(|\lambda_k|, 1 + \frac{\lambda'_1 \lambda_1}{|\lambda'_1|} \right). \end{aligned}$$

Using the assumption on V_0 and Lemma 1, we can continue the above equalities by

$$(12) \quad \begin{aligned} &= \left\| x + \frac{\lambda'_1}{|\lambda'_1|} \chi_{\Gamma_1} \right\| = \left\| \sum_{k=1}^n \lambda'_k \chi_{\Gamma_k} + x_0 + \frac{\lambda'_1}{|\lambda'_1|} \chi_{\Gamma_1} \right\| \\ &= \max_{2 \leq k \leq n} \left(|\lambda'_k|, \left| \lambda'_1 + \frac{\lambda'_1}{|\lambda'_1|} \right|, \|x_0\| \right) \\ &= 1 + |\lambda'_1| \quad (> 1). \end{aligned}$$

By (11) and (12), since $|\lambda_k| \leq 1$ ($2 \leq k \leq n$), we have

$$1 + \frac{\lambda'_1 \lambda_1}{|\lambda'_1|} = 1 + |\lambda'_1|.$$

Hence we have $\lambda'_1 = \lambda_1$. Similarly, we obtain $\lambda'_k = \lambda_k$ ($2 \leq k \leq n$).

Finally, notice that for each $\Gamma_0 \subset (\bigcup_{k=1}^n \Gamma_k)^c$, and suppose that $\lambda'_0 \neq 0$ and $x_0 = \lambda'_0 \chi_{\Gamma_0} + x_{00}$ with $\text{supp } x_{00} \subset (\bigcup_{k=0}^n \Gamma_k)^c$. Then, similarly to the above

argument, from the contradiction

$$(13) \quad \left\| x + \frac{\lambda'_0}{|\lambda'_0|} \chi_{\Gamma_0} \right\| = 1 + |\lambda'_0| > 1 = \left\| V_0 x + \frac{\lambda'_0}{|\lambda'_0|} V_0(\chi_{\Gamma_0}) \right\|,$$

we obtain $x_0 = \theta$. This completes this proof. □

3. Main results

THEOREM 1. *Let E be a Banach space, V_0 be an isometric mapping from the unit sphere $S(\mathcal{L}^\infty(\Gamma))$ into the unit sphere $S(E)$. Then V_0 can be extended to a linear isometry defined on the whole space $\mathcal{L}^\infty(\Gamma)$ if and only if the following conditions hold:*

(i) *For every x_1 and x_2 in $S(\mathcal{L}^\infty(\Gamma))$, λ_1 and λ_2 in \mathbb{R} ,*

$$\|\lambda_1 V_0 x_1 + \lambda_2 V_0 x_2\| = 1 \implies \lambda_1 V_0 x_1 + \lambda_2 V_0 x_2 \in V_0[S(\mathcal{L}^\infty(\Gamma))].$$

(ii) *If $V_0(x) = \sum_{k=1}^n \lambda_k V_0(\chi_{\Gamma_k})$, then $x = \sum_{k=1}^n \lambda'_k \chi_{\Gamma_k} + x_0$. Here $\Gamma_1, \Gamma_2, \dots, \Gamma_n$ are mutually disjoint subsets of Γ and $\text{supp } x_0 \subset (\bigcup_{k=1}^n \Gamma_k)^c$.*

Proof. If V_0 can be extended to a linear isometry on the whole $\mathcal{L}^\infty(\Gamma)$, it is clear that the conditions (i) and (ii) hold.

Conversely, assume that both (i) and (ii) hold. Firstly, by the equality

$$\sum_{k=1}^n \lambda_k V_0 x_k = \left\| \sum_{k=1}^{n-1} \lambda_k V_0 x_k \right\| \left\| \sum_{k=1}^{n-1} \frac{\lambda_k}{\|\sum_{k=1}^{n-1} \lambda_k V_0 x_k\|} V_0 x_k + \lambda_n V_0 x_n \right\|,$$

we get by induction that

$$(14) \quad \left\| \sum_{k=1}^n \lambda_k V_0 x_k \right\| = 1 \implies \sum_{k=1}^n \lambda_k V_0 x_k \in V_0[S(\mathcal{L}^\infty(\Gamma))],$$

$$\forall x_k \in S(\mathcal{L}^\infty(\Gamma)), \lambda_k \in \mathbb{R} \quad (1 \leq k \leq n), n \in \mathbb{N}.$$

Secondly, we shall show that for each $n \in \mathbb{N}$, all mutually disjoint characteristic functions $\chi_{\Gamma_1}, \chi_{\Gamma_2}, \dots, \chi_{\Gamma_n}$ and $\theta_k = \pm 1 \quad (1 \leq k \leq n)$,

$$(15) \quad \|\theta_1 V_0(\chi_{\Gamma_1}) + \theta_2 V_0(\chi_{\Gamma_2}) + \dots + \theta_n V_0(\chi_{\Gamma_n})\| = 1.$$

Indeed, we will prove (15) by induction. For $n = 2$, this is easy to verify using the fact that V_0 is isometric and Lemma 1. Now assume that (15) holds for $n = m - 1$. By (14), there exists $\hat{x} \in S(\mathcal{L}^\infty(\Gamma))$ such that

$$(16) \quad V_0 \hat{x} = \sum_{k=1}^{m-1} \theta_k V_0(\chi_{\Gamma_k}).$$

Now let $n = m$, and suppose that (15) does not hold. Without loss of generality, let $\|\sum_{k=1}^m \theta_k V_0(\chi_{\Gamma_k})\| > 1$. Then it follows by Lemma 1 that

$$\|\hat{x} + \theta_m \chi_{\Gamma_m}\| = \|V_0 \hat{x} + \theta_m V_0(\chi_{\Gamma_m})\| > 1.$$

Hence there is an index $\gamma_m \in \Gamma_m$ such that

$$(17) \quad |\hat{x}(\gamma_m) + \theta_m| > 1.$$

Moreover, by the induction assumption and (14), there exists $\tilde{x} \in S(\mathcal{L}^\infty(\Gamma))$ such that

$$(18) \quad V_0 \tilde{x} = - \sum_{k=2}^{m-1} \theta_k V_0(\chi_{\Gamma_k}) + \theta_m V_0(\chi_{\Gamma_m}).$$

By Lemma 3, (18) implies

$$(19) \quad \tilde{x} = - \sum_{k=2}^{m-1} \theta_k \chi_{\Gamma_k} + \theta_m \chi_{\Gamma_m}.$$

Thus, by Lemma 1, (17) and (19) we have

$$(20) \quad \|V_0 \hat{x} + V_0 \tilde{x}\| = \|\hat{x} + \tilde{x}\| \geq |\hat{x}(\gamma_m) + \tilde{x}(\gamma_m)| = |\hat{x}(\gamma_m) + \theta_m| > 1,$$

while, by (16) and (18), we also have

$$(21) \quad \|V_0 \hat{x} + V_0 \tilde{x}\| = \|\theta_1 V_0(\chi_{\Gamma_1}) + \theta_m V_0(\chi_{\Gamma_m})\| = \|\theta_1 \chi_{\Gamma_1} + \theta_m \chi_{\Gamma_m}\| = 1.$$

The contradiction between (20) and (21) proves (15).

Now, using Lemma 2 and Lemma 3, we obtain that for each $n \in \mathbb{N}$, all mutually disjoint subsets $\Gamma_1, \Gamma_2, \dots, \Gamma_n$ of the index set Γ , and any $\lambda_1^0, \lambda_2^0, \dots, \lambda_n^0$ in \mathbb{R} with $\max_{1 \leq k \leq n} |\lambda_k^0| = 1$,

$$V_0 \left(\sum_{k=1}^n \lambda_k^0 \chi_{\Gamma_k} \right) = \sum_{k=1}^n \lambda_k^0 V_0(\chi_{\Gamma_k}).$$

That is, V_0 is linear on the subset which consists of all simple functions of the unit sphere $S(\mathcal{L}^\infty(\Gamma))$.

Finally, we similarly define a mapping on the subspace X consisting of all simple functions of $\mathcal{L}^\infty(\Gamma)$ as follows:

$$V_1 x = V_1 \left(\sum_{k=1}^n \lambda_k \chi_{\Gamma_k} \right) = \sum_{k=1}^n \lambda_k V_0(\chi_{\Gamma_k}), \quad \forall x = \sum_{k=1}^n \lambda_k \chi_{\Gamma_k} \in X (\subset \mathcal{L}^\infty(\Gamma)).$$

By Lemma 2, we have

$$\|V_1 x\| = \max_{1 \leq k \leq n} |\lambda_k| = \|x\|, \quad \forall x = \sum_{k=1}^n \lambda_k \chi_{\Gamma_k} \in X.$$

That is, V_1 is a linear isometry on X . Notice that the subspace X is dense in $\mathcal{L}^\infty(\Gamma)$, V_1 is isometric on X , and the space E is complete. Hence V_1 has a unique linearly isometric extension V to the whole space $\mathcal{L}^\infty(\Gamma)$. Then it is easy to see that V is an extension of V_0 . This completes the proof. \square

In particular, using the fact that the space c_0 has a Schauder basis, we get the following theorem:

THEOREM 2. *Let E be a Banach space, V_0 be an isometric mapping from the unit sphere $S(c_0)$ into the unit sphere $S(E)$. Then V_0 can be extended to a linear isometry defined on the whole space c_0 if and only if the following condition holds:*

(*) *For all x_1 and x_2 in $S(c_0)$, λ_1 and λ_2 in \mathbb{R} ,*

$$\|\lambda_1 V_0 x_1 + \lambda_2 V_0 x_2\| = 1 \implies \lambda_1 V_0 x_1 + \lambda_2 V_0 x_2 \in V_0[S(c_0)].$$

Proof. The proof is similar to the proof of Theorem 1. We only notice that the simple functions $\sum_{k=1}^n \lambda_k e_k$, $\lambda_k \in \mathbb{R}$, $n \in \mathbb{N}$, are dense in the space c_0 , and if $V_0 x = \sum_{k=1}^n \lambda_k V_0 e_k$, then x must be of the form

$$x = \sum_{k=1}^n \lambda'_k e_k + x_0$$

with $\text{supp } x_0 \subset (\{k \mid 1 \leq k \leq n\})^c$. Then it is easy to prove the result. \square

From the above theorems, we immediately get the following corollaries.

COROLLARY 1. *Let E be a Banach space, V_0 be a surjective isometric mapping from the unit sphere $S(\mathcal{L}^\infty(\Gamma))$ onto the unit sphere $S(E)$. Then V_0 can be extended to a linear isometry defined on the whole space $\mathcal{L}^\infty(\Gamma)$ if and only if the following condition holds:*

(**) *If $V_0(x) = \sum_{k=1}^n \lambda_k V_0(\chi_{\Gamma_k})$, then $x = \sum_{k=1}^n \lambda'_k \chi_{\Gamma_k} + x_0$. Here $\Gamma_1, \Gamma_2, \dots, \Gamma_n$ are mutually disjoint subsets of Γ , and $\text{supp } x_0 \subset (\bigcup_{k=1}^n \Gamma_k)^c$.*

COROLLARY 2. *Let E be a Banach space, V_0 be a surjective isometric mapping from the unit sphere $S(c_0)$ onto the unit sphere $S(E)$. Then V_0 can be extended to a linear isometry defined on the whole space c_0 .*

Note that Corollary 2 generalizes the result of [4] when the $\ell^\infty(\Gamma)$ -type space is c_0 .

Recall that, by Kakutani's representation theorem (see Theorem 1.b.6 of [6]), an AM -space (abstract M -space) is isometric and lattice isomorphic to a sublattice of $C(\Omega)$ space for some compact Hausdorff space Ω . Hence we immediately have the following conclusion:

COROLLARY 3. *Corollary 1 still holds if we replace the space $\mathcal{L}^\infty(\Gamma)$ by an atomic AM -space.*

From Theorem 1 we can also get the main result in [4]:

COROLLARY 4. *Let V_0 be a surjective isometric mapping from the unit sphere $S(\mathcal{L}^\infty(\Gamma))$ onto itself. Then V_0 can be extended to a linear isometry defined on the whole space $\mathcal{L}^\infty(\Gamma)$.*

Proof. We only need to check condition (ii) in Theorem 1. Indeed, if $\sum_{k=1}^n \lambda_k V_0(\chi_{\Gamma_k})$ is in the unit sphere $S(\mathcal{L}^\infty(\Gamma))$, (where $\Gamma_1, \Gamma_2, \dots, \Gamma_n$ are mutually disjoint subsets of the index set Γ), then there exists x in the unit sphere $S(\mathcal{L}^\infty(\Gamma))$ such that $V_0 x = \sum_{k=1}^n \lambda_k V_0(\chi_{\Gamma_k})$ because V_0 is a surjective mapping.

Using the same technique as in the proof of Lemma 3, for each $x = x(\gamma)$, if $\gamma^{(1)} \in \Gamma_1$, we can obtain, similar to (11) and (12) above, that

$$\begin{aligned} (22) \quad \left\| V_0 x + \frac{\lambda_1}{|\lambda_1|} V_0(e_{\gamma^{(1)}}) \right\| &= 1 + |\lambda_1| = \left\| x + \frac{\lambda_1}{|\lambda_1|} e_{\gamma^{(1)}} \right\| \\ &= \sup_{\gamma \neq \gamma^{(1)}} \left(|x(\gamma)|, |x(\gamma^{(1)}) + \frac{\lambda_1}{|\lambda_1|}| \right) \\ &= \sup_{\gamma \neq \gamma^{(1)}} \left(|x(\gamma)|, \left| 1 + \frac{x(\gamma^{(1)})\lambda_1}{|\lambda_1|} \right| \right), \end{aligned}$$

which implies that $x(\gamma^{(1)}) = \lambda_1$. Similarly, we obtain $x(\gamma^{(k)}) = \lambda_k$ for each $\gamma^{(k)} \in \Gamma_k$ ($2 \leq k \leq n$).

Thus, using the equality (13) near the end in the proof of Lemma 3, we immediately obtain that $x = \sum_{k=1}^n \lambda_k \chi_{\Gamma_k}$. This completes this proof. \square

Acknowledgement. I would like to express my sincere gratitude to the referee for some suggestions that improved this paper. In particular, the range in the original statement of our main result was an AM -space, but the referee observed that one can replace it by a general Banach space with a small change in the proof.

REFERENCES

- [1] G. Ding, *On perturbations and extensions of isometric operators*, Taiwanese J. Math. **5** (2001), 109–115. MR 1816132 (2002f:47031)
- [2] ———, *The 1-Lipschitz mapping between the unit spheres of two Hilbert spaces can be extended to a real linear isometry of the whole space*, Sci. China Ser. A **45** (2002), 479–483. MR 1912120 (2003d:46029)
- [3] ———, *On extensions and approximations of isometric operators*, Adv. Math. (China) **32** (2003), 529–536. MR 2057497
- [4] ———, *The representation of onto isometric mappings between two spheres of ℓ^∞ -type spaces and the application on isometric extension problem*, Science in China **34** (2004), 157–164 (in Chinese); English translation, **47** (2004), 722–729. MR 2127202 (2006a:46012)
- [5] Z. Hou, *The isometric extension of the into mapping between the unit spheres of AL_p -spaces ($1 < p < \infty$)*, Acta Math. Sinica, to appear.
- [6] J. Lindenstrauss and L. Tzafriri, *Classical Banach spaces. II*, Ergebnisse der Mathematik und ihrer Grenzgebiete, vol. 97, Springer-Verlag, Berlin, 1979. MR 540367 (81c:46001)
- [7] R. E. Megginson, *An introduction to Banach space theory*, Graduate Texts in Mathematics, vol. 183, Springer-Verlag, New York, 1998. MR 1650235 (99k:46002)

- [8] D. Tingley, *Isometries of the unit sphere*, *Geom. Dedicata* **22** (1987), 371–378.
MR 887583 (88f:46047)
- [9] J. Wang, *On extension of isometries between unit spheres of AL_p -spaces ($1 < p < \infty$)*,
Proc. Amer. Math. Soc. **132** (2004), 2899–2909. MR 2063109 (2005a:46018)

GUANG-GUI DING, SCHOOL OF MATH. SCI. AND LPMC, NANKAI UNIVERSITY, TIANJIN,
CHINA 30007

E-mail address: ding_gg@nankai.edu.cn